

R M M

ROMANIAN MATHEMATICAL MAGAZINE
www.ssmrmh.ro



Find:

$$\Omega = \lim_{n \rightarrow \infty} \left(\log(2n + 1) - \sum_{k=1}^n \left(\frac{1}{k[\sqrt{k}]} \cdot \left[\frac{\sqrt{k} + \sqrt{k+1} + \sqrt{k+2}}{3} \right] \right) \right),$$

[*] - GIF function

Proposed by Daniel Sitaru – Romania

Solution by Pierre Mounir-Cairo-Egypt

By Jensen's inequality, we have:

$$\frac{\sqrt{k} + \sqrt{k+2}}{2} < \sqrt{\frac{k + (k+2)}{2}} \Rightarrow \sqrt{k} + \sqrt{k+2} < 2\sqrt{k+1} \Rightarrow$$

(We could've proved it using $(\sqrt{k+2} - \sqrt{k})^2 > 0$)

$$\sqrt{k} + \sqrt{k+1} + \sqrt{k+2} < 3\sqrt{k+1} \Rightarrow$$

$$\sqrt{k} = \frac{\sqrt{k} + \sqrt{k} + \sqrt{k}}{3} < \frac{\sqrt{k} + \sqrt{k+1} + \sqrt{k+2}}{3} < \sqrt{k+1} < \sqrt{k} + 1$$

$$\because x < y \Rightarrow [x] < [y]$$

$$\therefore [\sqrt{k}] < \left[\frac{\sqrt{k} + \sqrt{k+1} + \sqrt{k+2}}{3} \right] < [\sqrt{k+1}] = [\sqrt{k}] + 1$$

$$\because \left[\frac{\sqrt{k} + \sqrt{k+1} + \sqrt{k+2}}{3} \right] \in \mathbb{Z} \Rightarrow \left[\frac{\sqrt{k} + \sqrt{k+1} + \sqrt{k+2}}{3} \right] = [\sqrt{k}]$$

R M M

ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro

$$\begin{aligned}\therefore \Omega &= \lim_{n \rightarrow \infty} \left\{ \ln(2n + 1) - \sum_{k=1}^n \frac{1}{k[\sqrt{k}]} \left[\frac{\sqrt{k} + \sqrt{k+1} + \sqrt{k+2}}{3} \right] \right\} \\ &= \lim_{n \rightarrow \infty} \left\{ \ln(2n + 1) - \ln n + \ln n - \sum_{k=1}^n \frac{1}{k} \right\} \\ &= \lim_{n \rightarrow \infty} \ln \left(2 + \frac{1}{n} \right) + \lim_{n \rightarrow \infty} \left\{ \ln n - \sum_{k=1}^n \frac{1}{k} \right\} \\ &= \ln 2 - \gamma\end{aligned}$$